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1. (a) Answer in one sentence : 1x4=4

By qTe e fr

(i) What is Accounting Standard?
R W 2

(i) Who is a ‘Hire Vendor’?
STl el (P ?

(i) *What is 4nterdepartmental transfer’?

e R 2

(iv) What is ‘sub-lease’?
oo 7



(b) Find the correct answer from the given alternatives : 1x4=4

TS fra1 RIEHZ /1 wH Teah Al Serea

() Unearned Income Acccount is

oSt s Ree {20z

(1) a liability
«f5 o

(2) an asset

«f =4S

(3) an expense
«fb ¥9%

(i) The total amount to be paid by the buyer under Hire-purchase
System is called

V-G ARG (FOiR [y IR AN A5 4T ARTIE PRI W

(1) cash price
CRER L

(2) market price

IGR T

(3) hire-purchase price
O[PI-&d o)

(i) In Departmental A/cs, each department is considerfed as a separate

Remy R Aree RS QIS 590 I3 =0

(1) «profit centre
=e (%

(2) cost centre
P FH

(3) business centre

JTTRF T

-— (2]



(iv) Royalty A/c is closed by transferring to
TP 201 39 IRW AR @RI I
(1) Landlord’s A/c
TR fBoreita
(2) Profit & Loss A/c
TS - PO fRB1eitet

(3) Shortworkings A/c
w6 Tesrm et

2. Write short notes on (any foun : 4%x4=16
5 el o (R e wifR)

(a) International Financial Reporting Standards (IFRS)
AEEfeF 81 eifecam TR (IFRS)

(b) Instalment Purchase System
foRe-=1 “rafe

(c) Independent Branch
TSF "R

(d) Minimum Rent

TN STel

(e) Recoupment of Shortworkings
RIEACC AR IEEAR

3. (@ () What do you mean by basic concepts and conventions of
Accounting? Dvond

fter-RmrR o 4 o 2 e & @2

(i) Distinguish between Accounting Standards and Accounting
Principles. 4
RBeRTR Te % REeRaR TS 15 4 erewyz Bra w4 |

(iii) Write a note on Accounting Standard Board set up in India.

SR R Twe Ree R «fb G e |

.
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(b) Following is the Trial Balance of M/s Khushbu and Neha, a par tfj:rSl‘;lp
firm, as on 31st March, 2018. Prepare a Trading and Profit & Loss A/ c or
the year ended 31st March, 2018 and a Balance Sheet as on that date :

4+5+5=14

TS Y W (R SR e 2018 TR 31 Wb 2@e 391058 fe e
wTe a1 29 | Te it w-Ria Wi srs-(AenrE R oS I Tge-id 2Ee

9l

Dr. Balances
COfG BTz
Drawings :
AIES R
Khushbu
EARY
Neha
™=

Land and Building
T = w9

Machinery

b eali i

Salaries and Wages
TR S TG«

Motor car

6 o1

Trade Expenses

IR 90
Carriage Inward
TGS 72
Royalty

E R

Purchases
Gy

Returns Inward

R& frae

Trial Balance / 556 fJe Rgre
¢ (59) Cr. Balances
(@5 RETR
Capital A/cs :
L RARA R
» 2,000 Khushbu
BAS
3,500 Neha
Ry
36,000 Sales
&
18,000 @ Returns Outward
& fre
3,700 Bad Debts Reserve
SraRaE 4 &
10,500  General Reserve
TR e
1,900 Creditors
MCILGE
400 Commission.
il
1,800
453,300
2,500

35,000

25,000

92,500

1,300

800

3,000

23,000

1,500



Dr. Balances ¢ (59 Cr. Balances e (5)

R RISTZ cwfes RIS
Debtors 24,600
M
Discount 1,000
081
Insurance 1,200
Sy
Opening Stock 23,800
IS TS AD
Advertisement 3,000
Rt
Cash at Bank 2,900
AT U1 949 49
1,82,100 1,82,100
Adjustments :
TGP :

(@) Closing Stock (31st March; 2018)—¢ 36,000
31 Wi, 2018 IR ST TS #45—36,000 571

(i) Stock worth ¥ 3,000, uninsured has been destroyed by fire
3,000 591 TR SN STBR G <R 7B 2 L

(i) Depreciate machinery by 15% and motor car by 10%
TZAMS 15% TS ST M 10% TT© S 4 R #A1cay

(iv) Of the debtors, ¥ 600 were bad and should be written off and Reserve
for Doubtful Debts should be maintained at 5%

CATeHEd fete 600 51 SERTN @RF WA SReEle FRI w0 W
ARG AR AR 5% TS Ao 7aw) $RT 7es

(v) Khushbu and Neha divides profits and losses equally
T TF 2R AS-(EFdH ATerd Rese 33

4. (a) Distinguish between Hire-purchase System and Instalment Purchase

System. Mention four rights of Hire Vendor and four rights of Hire
Purchaser as laid down in the Hire-purchase Act, 1972.

Lol i B ¥ _J



Or / T[T

(b) A motor car was purchased on lst April, 2015 under Hire-purchase
System. The payment was to be made 20,000 down and the balance
including interest @ 5% p.a. were to be paid as follows :

Q¥ 559 SIS SIUl-TF ~Fafee 1 @fE, 2015 e e C2feE | 56 QRN S @
5% (2R #1cat Feal 20,000 5901 S i AR S A9 <= 51 2R 5% I Oee
eTS fr qaee “ffeeany IR iR

¢ 6=
On 31st March, 2016 60,000
31 W15, 2016-3 =
On 31st March, 2017 77,500
31 W6, 2017-3 a1
On 31st March, 2018 84,000
31 W16, 20187 fa=

The buyer provided depreciation on motor car @ 15% per annum under
diminishing balance method.

(FOI2 W09 MRS IR[{ 15% TS FRPW. e *mfee soy g iR |

Ascertain the cash price of the motor car and prepare (i) Hire Vendor’s Ajc

and (ii) Motor Car’s A/c in the books of Hire Purchaser. 6+4+4=14
o9 MO 75 To7 R F91 W ©ei-(FeR e (i) Su-Regon Zoe o<

(ii) 59 SMEH 251l oo F41 | :

(a) M/s Dutta Bros. has two departments A and B. Department A transfers
goods to Department Biat normal market price. From the following
particulars, prepare Departmenal Trading and Profit & Loss A/c and a
Combined Income A/c for the year ended 31st March, 2018 : 4+5+5=14
o6 T JMIBY KOSl wIr A F B. A [ B Reista Migme g e
SRS T4, 9AC il SYPTRS WeRe 31 W6, 2018 WRTY Ay z@l IEWON

AR AfSHFER ﬁsﬁmm-ﬁmwm-mﬁmﬂwmlﬁmwﬁmm

40
Dept.—A Dept—B General
Rerm—A Rer—B SR
5 e (521) e (%)
Stock as on 1st April, 2017 12,000 Nil —
1 «fe@, 2017 @Rt Tg© %0 | |
Purchases 2,77,000 2-4,000 —

|



Transfer of goods from Dept.—A
Re1—A 3 *)1 TWBRe 0
Purchase Return

Y e

Wages

TgR

Stock as on 31st March, 2018
31 Wb, 2018 O TGS 2%
Salaries

AP

Sales

ey

Printing and Stationery

= S WA

Plant and Machinery
TS

Salaries (general)
w2l (TYEeT)
Advertisement
R

Bank Charges
(RF W

Sundry Expenses
ffdy T

Dept—A
fe19—A
# (531)

1,000
12,000
60,000
8,000

2,76,000

2,560

Dept.—B
fe19—B
# (531)

84,000

19,200
21,600
5,000
1,74,000
1,960

14,400

General
MICIE
& (%)

18,000
9,600
2,400

3,600

Depreciate ¢Plant and Machinery by 10%. The general unallocated
expenses.are, to be apportioned between A and B departments in the

ratio 3 : 2.

TZTOT GRS 10% TS SHH 4R FRT =Mt | e 9oz A wF B RepR qere

3 : 2 SPITee i R AW |

Or / 941

(b) What is ‘Branch A/ c¢’? What are its main Objectives? How are inter-branch
transactions recorded in Branch A/cs? 2+6+6=14

g e’ 7 WR W SRz B R wmem ereeenz - Reepeze
@ fofoRm S = ?



6. (a)

(b)

Avinash took a colliery on lease with a minimum rent of ¥ 60,000 per
annum merging into a royalty of € 5 per ton of coal raised with a right to
recoup shortworkings within the first four years of lease. The output for
first-five years was given below :

SR b1 TR Here o e wey pfe PR 2if B FEIR 8RS 5 5l et
T AN I W WF PAOT &A1 60,000 51 IR Boreel W@ 31 W 1 4eq v
RIS ZF-TeAR AR TR IR SR AR 1 2 A6 TZI0FA TRATR
AR TS e 4o iR

Year Output (in tons)
=9 Sesyra (57)
1 Nil
2 6000
3 10000
4 14000
5 16000

Prepare Analytical Table and show the following Ledger A/cs in the books
of Avinash : 2+4+4+4=14

Remrge SRR age 391 wIF. SRape Re oo War 391 IR Rerprz
0989 ¢q1 .

(i) Royalties A/c

T fRoref
(i) Shortworkings A/c
23-TRemes o
(i) Landlord’s A/c
pHe fRmit
Or / §%a1
() Why is Minimum Rent A/c opened in the books of Lessee? 4
TgRoR RS Fow R B B3 e = 9
(i) Why is minimum rent important in Royalty A/c? 4
TS A TGA Ro1e1S Ry gy 9
6

(i) Explain the different types of royalty.
TeA RS ez 3t w41 |



( Old Course )

Pass Marks : 32

Time : 3 hours
1. (a) Fill in the blanks : 1x4=4
A 5 &V A
(i) Accounting Standard Boar
SrRroe Rop(RaR TR AR 5o oo 2 |
(i) Cost of goods sold on Hire-purchase is transferred to
SIU-T (S < R T CeRel T ey taeE e 2
(i) In Branch Accounting, each branch has separate
w14 FBE1erS 2AfSTh WE e AT |
(iv) When a partner is not able to meet his liabilities, h

be 5
mﬁmma&mwaﬁmﬁmmﬁﬁﬁm&ﬁﬁwﬂm, (@ (OEF

e

d was set up in India in the year

Afc.

e is said to

(b) Write ‘True’ or ‘False’ : 1x4=4

ST @ Ry’ o
(i) Accounting Standard 6 deals with Depreciation Accounting.
fRTPIRI 671, T ST S0y fRore <1 2 |
(i) Hire-purchase istan agreement of hiring.
IU-TY (R SIPR I FF| ¢F IJCHRE |
(i) Branch Stock A/c is always prepared at cost price.
11 TR BBIe T T oS 2O 9 W |
(iv) Royalty is in the nature of rent.
TP AT ©IPR TR {1 |

2. Write short.notes on (any foun : : K
oy ¢oret forn (R e wif¥o) SRR : , el

(a) The provisions of Accounting Standard-1

RBeRwR TWe ] 1-3 RerR

(b) Termination of Hire-purchase agreement

Y- pie Afdaea



(c)

(d)

(e)

(a)

(b)

Inter-branch transactions
B ETHPIZ

Rock rent
Premers e

Rules of Garner vs. Murray

MR T o= iz

What do you mean by ‘Accounting Standards’? Mention the procedure for
issuing Accounting Standards. 3+9=12

iR T 3ferE & 3w 2 ReeRmr T e aifed SoaEs 39 |
Or / 911

Sima and Rima share profits and losses equally..From the following Trial
Balance of their business as on 31st March, 2018, prepare Trading and
Profit & Loss A/c for the year ended 3lst March, 2018 and a Balance
Sheet as on that date : 3+4+5=12
S S ) S -EIRFBH ST ©19 FREH | 2018 59 31 A6 HFS FT (OECAGT
fe-f3fS o &v-Raw S eI Boe 25e IR 2018 571 31 916 ©fky®

Tge-+q 2o 39 :

Dr. Balances Cr. Balances

(ORG Rfogz s oMz

e (5a1) 7 (51
Capital (J54) :
Sima () 15,000
Rimar(3) ' 15,000
Current.Aj/c (sfere fZo19)) -
Sima () 12,000
Rima (3 6,000
Land and Building (at cost) 60,000
T AF T (Y To770)
Machinery (at cost) 45,000
RS (T8 Tor)
5,00,000

Purchases (adjusted)
T (Fafers)



Dr. Balances Cr. Balances

& (3=)

e (530)
Sales Returns (R&! #4e) 10,000
Salaries (T3%%) 60,000
Wages (Ygf) 72,000
Rent and Taxes (S%] I ) 28,000
Cash at Bank ((RF9 &) 15,000
Furniture (S4R) ' 25,000
Accumulated Depreciation (%® S=b¥) 12,000
Debtors ((T=M9) 3,44,000
Creditors (*184MR) 4,00,000
Sales (/&) ‘ | 8,00,000
" Closing Stock (ST T *I) 765,000
12,42,000 12,42,000
Adjustment :
FNCITE -

In the accumulated depreciation, Land and Building—¢ 5,000;
Machinery—¢ 6,000 and Furniture—¢ 1,000 have been included

e SpEe oo X[ AR 5,000 531, T2 AT 6,000 T W%
IR A3 1,000 531 S@HS

4. (a) Jayshree Company purchased a machine on 1st April, 2016 on
Hire-purchase system. The payments were to be made as follows :

T @A 1 @fEE, 20167910 9B @Y Srol-gw mive T sl | oie

TCEd F 40 ol RN T 2R

¥ (5=
On signing of the agreement 5,000
P T IR TS
At the end of the 1st year 6,000
A2 WY ST
At the end of the 2nd year 3,500
"or I wE
At the end of the 3rd year 2 200
PO IH TS

16,700




Interest included in ® 16,700 was charged on the cash price @ 10% per
annum
16,700 53T® SEEE 1 S o7 T ¢iFe R 10% TI© 491 (2=

You are required to ascertain the cash price of the machine and write up

Machinery A/c and Hire Vendor’s A/c in the books of Jayshree Company:
‘ 3+4+4=11

mﬁﬂﬁRaﬁqmﬁmquwﬁ@"mﬁh@@mﬁmﬁmww—m

Reer oo erge 41 |
Or / ST

(b) What is Instalment Purchase System’? What are its features? Distinguish
between Instalment Purchase System and Credit Sales.. 2+3+6=11

Rz e’ 2 TR PP B B2 PR omfe . 3R RS Treo <
TSR TCAY 41 |

5. (@) What do you mean by Branch Accounting? What are its features?
Distinguish between Branch Accounting and Departmental Accounting.

2+4+5=11
w1 1ol foreet R e 2 TR PR & R 7 e Rort s Redin fRerr T
L] NPT TCEY 91 |

Or / 9331

(b) The Golaghat Head Office supplies goods to its branch at Sivasagar at
cost. The branch sells the goods for cash and on credit and remits the
proceeds to the Head Office promptly. The branch expenses being met by
the Head Office by cheque. The following are the transactions relating to
the branch for the year ended 31st March, 2018 :

CoMTaID ) PAICH, RIS 41 T -1 @ o =A< A0 | 1R oM A
e <A7E REL IR T A @R T FREWE a9 T | T FREAE T
<O TR A S e 1 2018 5 3196 Wik W ©{1 IRIWR ACT M

TR S0 T T 7'
¢ o)
Stock at Branch on 1st April, 2017 60,000
1 ¢fg@, 2017 @Rty 1R W B8R
Debtors at Branch on 1st April, 2017 ‘ 80,000
1 @i, 2017 Ok 1A MR
Goods sent to Branch during the year 4,50,000

FRILDTS 1 (2R 413

Lo W R I T J Sz



Total sales at Branch
(including cash sales ¢ 2,20,000)

R 35 R =R (3o & 2,20,000 T R)

Goods returned by Branch
WIYR o[ 2 IR I

Goods returned by customers
AT AR A 03

Collection from debtors
(T LA E R T e ) b e ST

Discount allowed

T e =’
Bad Debts written off
SARRAN A QA T =

Cheque sent by Head Office towards
the branch expenses :

IR RS IRT Y SR 4IPSt =ifdam

Salaries (T9%2]) 50,000
Rent (S19) 25,000
Petty expenses ($% 3db) 5,000

Stock at Branch on 31st March, 2018
31 16, 2018 SRY>NIR TGS Y

&)

7,40,000

20,000

20,000

4,20,000

20,000

10,000

80,000
90,000

Prepare Branch' A/c and Goods sent to Branch A/c in the books of Head
Office. Also prepare Branch Debtors A/c as a part of your working note.

6+3+2=11

wmﬁswﬁmwwmﬂwﬁmmw|wm

P MR @R e eige IR orgea |

6. (a) () What is Minimum Rent? Why is it important in Royalty A/c?  2+2=4

TS el 7 7 Tgee Rorere R g W Ry 2

(@ What do you mean by Recoupment of Shortworkings’? What
conditions are to be satisfied for recoupment of shortworkings? 3+4=7

‘Z3-Beoma HeE’ e R w7 Z3-Teorm e AT B R v e

FfRIFNWM W ?



Or / 941

(b) Sri Amrit Baruah took a colliery from Sri Amar Singh on lease for a period
of 20 years from 1st April, 2013 on a royalty of & 16 per ton of coal raised
with a minimum rent of 80,000 per annum and power to recoup
shortworkings in the first four years of the lease.

Srero Twrarz Sone Bred o1 @b FANf 2013 T 1 «iEF OIR¥E AR 20 =R
M Sers =171 | TN TS &1 80,000 Bere FifRe 9 Wi afS 5 Beerfts

TS 16 531 7991 MR 590 piem 24 | pe wepil 2w ik Jeey foeRe yeewa
o] T-TeoeR SR SR EIRE SfEeE A | -

The annual coal raised were as follows :

e e TBeoqmR ~AfRwe Fare @R =ik -
Year Output (in tons)
=9 T o1 (519)
2013-14 3000
2014-15 3500
2015-16 5000
2016-17 8000.
2017-18 10000

From the above particulars; prepare in the books of Sri Amrit Baruah :
4+4+3=11

TS SYERS °F1 AOTS IFIN 0 2FS 39
(i) Royalties A/c
KRR RED

(i) Amar Singh’s A/c
e e o

(iii) Shortworkings A/c
X TR RET



7. (a)

g profits and losses in

In a partn i d Barun are sharin
p ership firm, Arun an rm as on 31st March,

the ratio of 5: 3. They decided to dissolve their fi as [ .
2018. Their Balance Sheet as on 31st March, 2018 is given belov;,: :
WqWWﬂ?W—W?{WWWS:S.ZOIBWSIW—TﬁW © (SETAA
E e u———e ST ER SRR LA A AR
frar 297

Liabilities (crP7) ¢ 5%) Assets (T3) T 6
Creditors (*l€qM) 0,316 Goodwill (F¥) 4,000
Loan from Arun (¢ *[1 49) 3,684  Furniture (SABIR) 1,000
Loan from Barun (%R *ql %) 600 Machinery (SZ°if9) 2,000
Capital (Je14=) : Inventory (8H) 9,200

Arun (%) 8,000 Debtors (¢MH) 10,000

Barun (3¥9) 5,400 Cash (J8% &) 800

27,000 27,000

(b)

The assets were realized as follows. :
=S Tore i W SmME 77 ¢

¥ (5<)
Goodwill () 2,600
Furniture (¥4<€) 4 900
Inventory (819 8,300
Debtors ((HMS) 10,200
Machinery (Fi®) 8,800

Creditors were paid 9,120 in full settlement of their claim. Realization
expenses amountto ¥ 110. A bill for ¥ 130 due for sales tax was received
during the course of realization and this was also paid. Close the books of
the firm.

oeameTer. o S e A 9,120 TR ooy w1 2'F | wwE B 39
110 591 130 Be@ @ 3 o I R =i Reme w21 a1 1 ofodeom ez
ERIREIN

Or / &5%31

What is Amalgamation of firms? What are its main objectives? Name the

11

different forms of amalgamation. 2+6+3=11

WA IO GFaeI [ 2 T 73 STz R R o FAFTR RfSw mfonp
AR BeEy 41

* & ok



